20W-MATH33B-1 Midterm 2

YI SHENG TAY

TOTAL POINTS

49 /50

QUESTION 1

Q110 pts

11Qla2/2
v - 0 pts Correct
- 1 pts Arithmatic mistake
- 1 pts didn't verify solutions.

- 1 pts didn't verify linear independence

12Qlbg/s
v - 0 pts Correct

- 1 pts Minor computational mistake

- 2 pts Forgot to put in normal form

- 2 pts Incorrect formula for variation of parameters
-1 pts Did not correctly evaluate integrals

- 2 pts Did not correctly find y after finding V's.

- 2 pts Did not find V's.

- 4 pts Bad guess for method of undetermined

coefficients.

QUESTION 2
Q215 pts

21Q2as5/5
v - 0 pts Correct
- 2 pts Minor mistake
- 2 pts Solution?

- 1 pts one solution is not correct

22Q2b9/10
- 0 pts Correct
- 1 pts minor mistake 1
v -1 pts minor mistake 2
- 1 pts minor mistake 3
- 2 pts major mistake 1: exp

- 2 pts major mistake 2: trig

- 2 pts major mistake 3: polynomial
- 6 pts VoP calculation not finished
- 4 pts VoP Calc wrong
-3ptsy_p_1="7

- 7 pts VoP No Calculation.

- 9 pts nothing meaningful

- 8 pts Click here to replace this description.

QUESTION 3

3Q310/10
v - 0 pts Correct
- 2 pts not correct eigenvalues
- 3 pts not correct eigenvectors
- 8 pts tried
- 1 pts miscellineous mistake
- 1 pts one of eigenvalue incorrect
- 1.5 pts one of eigenvector incorrect

- 2 pts didn't know the definition of fundamental set

QUESTION 4
Q415 pts

41a12/12
v - 0 pts Correct
- 2 pts k is incorrect
- 5 pts Didn't find v2 and y2
- 2 pts Your v2 is incorrect.
- 3 pts Found v1 and v2, but form of general solution
is wrong
- 2 pts Your vlis incorrect
- 2 pts Your v2 should not be an eigenvector too.

- 2 pts Your characteristic polynomial is incorrect

42b3/3
v - 0 pts Correct

- 0 pts Incorrect, but correct given answer in (a)



- 2 pts System solved/written incorrectly

- 1 pts Write down the actual solution, not just the
coefficients.

- 1 pts System solved correctly, solution written

down incorrectly
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1. (a) (2 points) Verify that y1(t) =t and y,(t) = t? are two linearly inde-
pendent solutions to the differential equation: :
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(b) (8 points) Find a particular solution y, to the following differential
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Last six digits of UID:

2. (a) (5 points) Find the general solution to the differential equation:
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(b) (10 points) Find a particular solution to the differential equation
(Hint: split forcing term into three parts):
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3. (10 points) Find the fundamental set (in other words, you have to find
two linearly indepedent solutions) of the following 2 x 2 system y' = Ay,

where
2 4
a=(3 1)
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Last six digits of UID:

4. (a) (12 points) Find the general solution (ygel;eral = C111(t) + Caoya(t)) to
the following 2 x 2 system y’ = Ay , where

a=(*%
\A_)-L\:\.\E:) g\—;k < 1 8>
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(b) (3 points) Find a solution to the above differential equation with
initial condition y(0) = (1,1)T. (In other words, determine coefficient
C1 and Cy. Try simplify your answers.)

UCO):“)
= . () +a())
20, + G =
Cy * Gy = |







Scratch Paper and Some useful formulas, etc:

Variation of Parameters (2nd Order Differential Equations)

/Wyz
uy(x) = / —1a(2)f (@)da






